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_-"4 An [-shaped bracket lying o a hornzontal plane
supparts o load # = 600 N (see fizure], The bracket has a
hallow rectanpular cross section wath tickness 1= 4 mm
and ouler dimensions & = 5 uvoin and o= 90 man. The
centerline lengibis of the arms are by = 500 mm and b, =
T30 mm. Considering only the load P, calculate the
Maximum ensile SLess o, maxnmnan compressive stress o,
and maximam shear steess 7, at point A, which s locawed

ik

on the top of the bracker a1 the support. {.3, g‘z';;
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3. A bearn AT with sumple supports al A and 8 and o
wvechiang SO supports a concentrated load P ot the Free end
C (see Tiured. () Determine the strain energy U stored in
e Bz due o the Tose Podb) From the steamn energy, Hind
the deflection & under the load £ {c)y Caleulate the numer-
wal values aof & and 8- 1f the length L 15 § 0T, the overhang
length ar 15 3 ft, the beam s o W10 % 12 sicel wide-flange

scciion, and the load P produces a maximum stress of

L2000 psian the beain. (Use £ = 29 % |0 psl.) [';2 ﬂ%j
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Z. A rectangular column with cross-secuonal dinen-
sions & and r is pin-supponed atends A and C (see figure).
Al nidheight, the column 15 restrained m the plane of the
figure but s free 1w deflect perpendicular to the plane ol the
fgure. Determine the ratio A0 such tan the critical lood i
the same for buckling in the two procipal plancs of the

column. fz ﬂ/’}
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‘5"-. A bar of rectangular cross sccuon s loaded and
supported s shown o the Tiaure. The distance berween
supports is L = 1 5 m and the height of the bar is i = 120
mm. The delection & at the midpoint 15 measured as 2.5
e Whal s the wmaximunm normal sicam € at the ISTERTITH

botom of the bar?  { 30 % )
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